EICV2 Economic Activity Files
EICV1 and EICV2 are not directly comparable.  EICV1 collects information about individuals’ economic activity, in their main and secondary jobs.  EICV2 collects information about all the jobs that an individual does.  The individual is not asked which job is the main job.  The analysis of the EICV2 starts with the identification of the individuals main and secondary jobs, and attempts as far as possible to replicate the definitions of main job used in EICV1.

The SPSS syntax file ‘Jobs database principal master’ creates main job.  In line with international norms, two types of economic activity are defined, one for the long reference period and one for the short. The syntax for doing this is very complicated. It is strongly recommended that main job is collected in the next survey.
· Main current job is the main job in the last 7 days

· Main usual job is the main job in the last 12 months

The following logic was used:

1. Persons with only one job over the reference period are allocated that job as the main job.

2. Persons with more than 1 job, for the long reference period take the number of months worked, and use one with most months.  For the short reference period the number of hours worked. In the event of a tie,
a. Most hours worked in the last week (long reference period)
b. In the event of a tie jobs are ordered by most days worked, followed by non-farm jobs taking precedence over farm jobs. Secondary jobs are numbered from 1 to a maximum of 4 jobs.
The resulting outfile is TOTAL JOBS EICV2.SAV . This records the status of all jobs, as main or secondary jobs in the short and long reference periods.
1.1 Derived Variables – Economic Activity
NoMonths  
Total number of months worked in job over year

NoHours  
Total number of hours worked in job over last 7 days

AgricOcc
Occupation=6 Agriculture

NoJobs
Total number of jobs worked by individual in the year

NoDays
Total number of days worked in previous 7 days

NoHours_sum Total hours worked in all jobs in last 7 days

MainUsual
1= Principal job over year, 2= A secondary job over year
Current
1= Main current job, 2= Second current job, 3=Third current job, 4=Fourth current job
Multiplejobs
1=One job only, 2=More than 1 job
Curr_Active 
1=worked in short reference period, 0= No work in short reference period 

(IF (NoHours > 0) Curr_Active = 1)
1.2 Industry codes
ISIC
Industry code from all sections of questionnaire summed – for farm workers  an agricultural code is assumed.

RECODE

  ISIC

  
(231=23)  (371=37)  (521=52)  (531=53)  (631=63)  (821=82)  (831=83)  


(SYSMIS=SYSMIS)  (111 thru 114=11)  (121 thru 124=12) (131 thru 132=13)  

(141 thru 142=14)  (211 thru 212=21)  (221 thru 226=22) (311 thru 319=31)  

(321 thru 325=32)  (331 thru 333=33)  (341 thru 344=34)  (351 thru 356=35)  


(361 thru 362=36)  (381 thru 388=38)  (411 thru 413=41)  (511 thru 512=51)

 
(611 thru 613=61)  (621 thru 623=62)  (641 thru 643=64)  (651 thru 653=65)  


(711 thru 719=71)  (721 thru 722=72)  (731 thru 732=73)  (811 thru 812=81)  

(841 thru 849=84)  (911 thru 918=91)   (921 thru 926=92)  (931 thru 934=93)  (ELSE=00)  INTO  ISICGroup .

VARIABLE LABELS ISICGroup 'Industry Group'.

EXECUTE .

VALUE LABELS ISICGroup





.00 'Inadequately Described'





11.00 '11 Agriculture'





12.00 '12 Livestock'





13.00 '13 Forestry'





14.00 '14 Fishing & Hunting'





21.00 '21 Mining'





22.00 '22 Quarrying'





31.00 '31 Food Manufacture'





32.00 '32 Textile Manufacture'





33.00 '33 Wood Products Man.'





34.00 '34 Paper Products Man.'





35.00 '35 Chemical Industries'





36.00 '36 Non-metallic Products. Man.'





37.00 '37 Metal Manufacture'





38.00 '38 Metal Products Man.'





41.00 '41 Gas, Water & Electricity'





51.00 '51 Construction Buildings'





52.00 '52 Construction Roads'





53.00 '53 Rural Reconstruction'





61.00 '61 Wholesale Trade'





62.00 '62 Retail Trade'





63.00 '63 Other Trade'





64.00 '64 Hotel & restaurants'





65.00 '65 Import & Export'





71.00 '71 Transport'





72.00 '72 Warehousing'





73.00 '73 Communications'





81.00 '81 Banking'





82.00 '82 Insurance'





83.00 '83 Real Estate'





84.00 '84 Business Services'





91.00 '91 Government, Admin & Social Services'





92.00 '92 Recreation & Tourism'




93.00 '93 Domestic Services'.
This was further reduced to ISIC Short Group

RECODE

  ISICGroup

  
(11 thru 14=1)

   
(21 thru 22=2)  


(31 thru 38=3)  


(41=4)  


(51=5)

 
(61 thru 65=6)  


(71 thru 73=7)  


(81 thru 84=8)  


(91= 9)  


(92=10)  


(93=11)  (ELSE=00)  INTO  ISICShort .

VARIABLE LABELS ISICShort ' ShortIndustry Group'.

EXECUTE .

VALUE LABELS ISICShort





.00 'Inadequately described'





1 'Agriculture, fishing, forestry'





2 'Mining & quarrying'





3 'Manufacturing'





4 'Utilities'





5 'Construction'





6 'Trade'





7 'Transport & commun'





8 'Financial services'





9 'Government'





10 'Recreation & tourism'





11 'Other services'.
OwnFarm
Never used in the analysis. In a farming industry or employment status is independent farmer - IF ((S6FQ3 < 124)| (S6DQ7=3)) OwnFarm = 1

OwnBusiness
An industry code is entered for a small business                   IF (S7AQ4  >= 1)
OwnFarm_nu


Number of farms per person (Never used)
Ownbusiness_nu

Number of businesses per person (never used)
S7AQ3_nu_1


Number of non-farm businesses PER HOUSEHOLD
OwnFarm_nu_1
Number of farm workers per household (check as not used)
1.3 Main Jobs
A main usual job database at the person was created EICV2 MAINJOB_SHORT.sav'

The main current job was identified as the one in which most hours were worked in the last seven days.  In the event of a tie, any non-agricultural job took priority.
current 1 'Main Current' 2 'Sec Current' 3 'Third Current' 4'Fourth Current'.
1.4 Other derived variables found in files
YrsBusiness
Grouped years in small business
RECODE

  TimeEmpl

  (Lowest thru 2=1)  (3 thru Highest=0)  INTO  NewJob .

VARIABLE LABELS NewJob 'Took job in last 5 years'.

EXECUTE .

RECODE

  S6FQ6A 

  (Lowest thru 5=1)  (6 thru Highest=0)  INTO  TimeFamily .

VARIABLE LABELS TimeFamily 'Started working in last 5 years'.

EXECUTE .

TimeSEmp

RECODE

  S7BQ3A 

  (Lowest thru 5=1)  (6 thru Highest=0)  INTO  TimeSEmp .

VARIABLE LABELS TimeSEmp 'Started business in last 5 years'.

EXECUTE .
1.5 Economic activity status

For each person usual economic activity status was created.  Step one is to identify all full time students, either in school or training.  If no work was carried out over the week or year then they were a student, otherwise working.
If no work had been done in the last week or year and the person was wanting work then coded as unemployed.

If not in work, not a student and not seeking work then person was economically inactive.

VALUE LABELS EconStatus


1 'Working'


2 'Unemployed'


3 'Student'


4 'Under 7 years old'


5 'Inactive - other'.

USE ALL.

The next step is to  created work status. The base for this is question  S6DQ7
  (1=1)  (2=4)  (3=2)  (4=5)  (5=9)  INTO  WorkStats .

VARIABLE LABELS WorkStats 'Usual Work Status'.

EXECUTE .
Then those coded as unpaid workers were put into farm if in a farming occupation and non-farm is a non-farming occupation.

VALUE LABELS WorkStats 
1 'Wage farm' 





2 'Independent farm'





3 'Unpaid farm worker'





4 'Wage non farm'





5 'Independent non-farm'





6 'Unpaid non farm worker'.

This was used as the base of most of the subsequent analysis.  In the next survey, this should be collected directly, and it was created to enable comparisons to be made with EICV1  S4BQ14.  
2 EICV1 Economic activity

2.1 Constructing work status

The main challenge was to construct the work status variable which corresponds with that compiled for EICV1. The resulting file with EICV2 comparable variables is EICV1 ECONBASE.SAV.   Main syntax file is ‘EICV1 work status to compare with EICV2’
The status in S4BQ14 is used as the main source and this is combined with the occupation group.  Group 6 identifies farming as an occupation. Where the answer to S4Q14 is missing, then the records of working people have been coded according to the best possible solution.
The questions in Section A Q2 to Q5, act as a guide but have been found to be very unreliable when compared with both the occupation and S4BQ14 carried out in the main job.  The unreliability of these first series of questions is also found is EICV2.  It is recommended that these questions do not be used as filters in the future.

The internal consistency between S4BQ14 and  Section A is extremely weak.
WorkStats 

1 'Wage farm' 





2 'Independent farm'





3 'Unpaid farm worker'





4 'Wage non farm'





5 'Independent non-farm'





6 'Unpaid non farm worker'.


1 = Salaried and a farming occupation


2 = Employer or Independent, and farming occupation


3 = Family worker or apprentice and farming occupation


4 = Salaried and non-farming occupation


5 = Employer or Independent, and non-farming occupation


6 = Family worker or apprentice and non-farming occupation

Initially a varaible was created which replicates the WorkStats variable in EICV2 using a similar logic – this was later replaced with a new version named RevWorkSt  which restricts the independent farmer to the head of household. WorkStats resulted in most spouses taking independent farmer status, which made the two surveys incomparable, only in very rare cases does EICV2 have muliple independendent farmers in the household.
Construction of WorkStats (discarded)
IF (s4bq14 = 1 & Occupation = 6) WorkStats = 1 .

VARIABLE LABELS WorkStats 'Work Status as EICV2' .

EXECUTE .

IF (s4bq14 = 1 & Occupation  ~= 6) WorkStats = 4 .

EXECUTE .

IF (s4bq14 = 2 & Occupation = 6) WorkStats = 2 .

VARIABLE LABELS WorkStats 'Work Status as EICV2' .

EXECUTE .

IF (s4bq14 = 3 & Occupation = 6) WorkStats = 2 .

VARIABLE LABELS WorkStats 'Work Status as EICV2' .

EXECUTE .

IF (s4bq14 = 2 & Occupation ~= 6) WorkStats = 5 .

VARIABLE LABELS WorkStats 'Work Status as EICV2' .

EXECUTE .

IF (s4bq14 = 3 & Occupation ~= 6) WorkStats = 5 .

VARIABLE LABELS WorkStats 'Work Status as EICV2' .

EXECUTE .

IF (s4bq14 = 4 & Occupation = 6)  WorkStats = 3 .

VARIABLE LABELS WorkStats 'Work Status as EICV2' .

EXECUTE .

IF (s4bq14 = 5 & Occupation = 6)  WorkStats = 3 .

VARIABLE LABELS WorkStats 'Work Status as EICV2' .

EXECUTE .

IF (s4bq14 = 4 & Occupation ~= 6)  WorkStats = 6 .

VARIABLE LABELS WorkStats 'Work Status as EICV2' .

EXECUTE .

IF (s4bq14 = 5 &  Occupation ~= 6)  WorkStats = 6 .

VARIABLE LABELS WorkStats 'Work Status as EICV2' .

EXECUTE .

VALUE LABELS WorkStats 
1 'Wage farm' 





2 'Independent farm'





3 'Unpaid farm worker'





4 'Wage non farm'





5 'Independent non-farm'





6 'Unpaid non farm worker'.

*MISSING VALUES RECODED.

IF ((SYSMIS(s4bq14)) &  Occupation = 6 & s4aq4=1 )  WorkStats = 2 .

EXECUTE .

IF ((SYSMIS(s4bq14)) & s4aq4=1 )  WorkStats = 3 .

EXECUTE .

DO IF (SYSMIS(WorkStats) & s4aq4 = 1) .

RECODE

  WorkStats  (SYSMIS=3)  .

END IF .

EXECUTE .

DO IF (SYSMIS(WorkStats) & s4aq2 = 1) .

RECODE

  WorkStats  (SYSMIS=4)  .

END IF .

EXECUTE .

DO IF (SYSMIS(WorkStats) & s4aq3 = 1) .

RECODE

  WorkStats  (SYSMIS=5)  .

END IF .

EXECUTE .

Construction of  RevWorkSt (used in labour report analysis)
RECODE

  WorkStats

  (2=1)  (ELSE=SYSMIS)  INTO  IndFarmer .

VARIABLE LABELS IndFarmer 'Independent farmer'.

EXECUTE .

AGGREGATE

  /OUTFILE=*

  MODE=ADDVARIABLES

  /BREAK=KEY

  /IndFarmer_nu 'Number Hhd of Ind Farmers ' = NU(IndFarmer).

RECODE

  WorkStats

  (3=3)  (4=4)  (5=5)  (1=1)  (6=6)  (ELSE=SYSMIS) INTO  NewWorkStat .

VARIABLE LABELS NewWorkStat 'Recoded Work Staus'.

EXECUTE .

DO IF (WorkStats = 2 & IndFarmer_nu   = 1) .

RECODE

  NewWorkStat  (SYSMIS=2)  .

END IF .

EXECUTE .

DO IF (WorkStats = 2 & IndFarmer_nu >1  & s1q2 = 1) .

RECODE

  NewWorkStat  (SYSMIS=2)  .

END IF .

EXECUTE .

DO IF (WorkStats = 2 & IndFarmer_nu > 1 & s1q2 > 1) .

RECODE

  NewWorkStat  (SYSMIS=7)  .

END IF .

EXECUTE .

VALUE LABELS NewWorkStat
1 'Wage farm' 





2 'Independent farm head'





3 'Unpaid farm worker'





4 'Wage non farm'





5 'Independent non-farm'





6 'Unpaid non farm worker'





7 'Ind farmer non-head'.

DO IF (NewWorkStat = 2) .

RECODE

  NewWorkStat

  (2=1)  INTO  HeadFarmer .

END IF .

EXECUTE .

DO IF (NewWorkStat = 2 ) .

RECODE

  NewWorkStat

  (2=1)  INTO  AnyFarmer .

END IF .

EXECUTE .

AGGREGATE

  /OUTFILE=*

  MODE=ADDVARIABLES

  OVERWRITEVARS=YES

  /BREAK=KEY

  /HeadFarmer_nu = NU(HeadFarmer) /AnyFarmer_nu = NU(AnyFarmer).

IF (HeadFarmer_nu = 0 & AnyFarmer_nu > 0) farmheadneeded = 1 .

EXECUTE .

RECODE

  NewWorkStat

  (1=1)  (2=2)  (3=3)  (4=4)  (5=5)  (6=6)  (7=3)  INTO  RevWorkStats .

VARIABLE LABELS RevWorkStats 'Revised Work Status'.

EXECUTE .

VALUE LABELS RevWorkStats
1 'Wage farm' 





2 'Independent farm head'





3 'Unpaid farm worker'





4 'Wage non farm'





5 'Independent non-farm'





6 'Unpaid non farm worker'.
2.2 Occupation

s4aq6 

  (0=100) (999=9)    (10 thru 199=1)  (200 thru 299=2)  (300 thru 399=3)  (400 thru 499=4)  (500 thru 599=5)  (600 thru 699=6)  (700 thru 959=7)

(960 thru 985=8) INTO  Occupation .

VARIABLE LABELS Occupation 'Main Occupation - Grouped'.

EXECUTE .

VALUE LABELS Occupation





1 'Professionals'





2 'Senior Officials and Managers'





3 'Office Clerks'





4 'Commercial and Sales'





5 'Skilled Service Sector'





6 'Agricultural & Fishery Workers'





7 'Semi-Skilled Operatives'





8 'Drivers and Machine Operators'





9 'Unskilled Labourers'





100 'Inadequately Described'





999 'No job'.
